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I As A = AzU(M - Ar)

Ar M(A1) =MLA2) +M(A-Arl

8⑧ => M(A)3u(A2)

2 An ·
B B = An

B2 = A2-Al

A
,
VAz = Az U(A)-A2) By = As-Ai

↑ = (AMA2) v (A - A2)

MIAUAL) = MIAL) +M(A
- Ar)

M(A) = M(GMA2)
+ M(A -Ar)

M/AVA1)-M(A2) = M(A))-MIAMAr) 12.
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Let X : (2 ,
7
,P)+ (1, B) be a random variable.

Then
, X*(B) -F # BEB

↑ (x
+ (B) = Px (B) where

Px : B - [0 , 1]. For REAL

↑ (10, u)) =Px)(x[x]) = Px(X + (- 0, x])

: = Fx(x)

· x < y = Fx() = Ex(y)

·
let en Use

.

Then (-0 ,um] ↓ J-0,2]

Fx(u) = Py(t0,u)) = Px(im(0,
= him Px (-0, ]

= him Ex low)

· him F(xn) = him Px))-*, un])
US UPD

= Ix(tim(0,)
=Px(
= PX (M) = 1 55%
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Fan : 0 < f(0) < You k=0

Elin 10) <m
,
12

Ez
, n
-> f(0) <m ,

R= 2
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Ench, m my fla) on ,
new

= nah
Enz" = + (w) > n
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